

Euler's substitution

VERZE 1

$$\int R(x, \sqrt{x^2 + 2bx + c}) dx$$

- $u = \sqrt{x^2 + 2bx + c} - x = \frac{2bx + c}{\sqrt{x^2 + 2bx + c} + x}$

- $u + x = \sqrt{x^2 + 2bx + c}$; $u^2 + 2ux + x^2 = x^2 + 2bx + c$; $x = \frac{u^2 - c}{2(u - b)}$

- $dx = \frac{2u(u - b) - (u^2 - c)}{-2(u - b)^2} du = \frac{u^2 - 2bu + c}{-2(u - b)^2} du$

- $\sqrt{x^2 + 2bx + c} = u + x = u - \frac{u^2 - c}{2(u - b)} = \frac{2u^2 - 2bu - u^2 + c}{2(u - b)} = \frac{u^2 - 2bu + c}{2(u - b)}$

VERZE 2

- $v = \sqrt{x^2 + 2bx + c} + x = \frac{2bx + c}{\sqrt{x^2 + 2bx + c} - x}$

- $v - x = \sqrt{x^2 + 2bx + c}$; $v^2 - 2vx + x^2 = x^2 + 2bx + c$; $x = \frac{v^2 - c}{2(v + b)}$

- $dx = \frac{2v(v + b) - (v^2 - c)}{2(v + b)^2} dv = \frac{v^2 + 2bv + c}{2(v + b)^2} dv$

- $\sqrt{x^2 + 2bx + c} = v - x = v - \frac{v^2 - c}{2(v + b)} = \frac{2v^2 + 2bv - v^2 + c}{2(v + b)} = \frac{v^2 + 2bv + c}{2(v + b)}$